Practice -~ TQS 120 Final

1. [10] TRUE/FASLE: Circle T in each of the following cases if the statement is always

true. Otherwise, circle F. Let f & g, be functions, and z & v be real numbers not
equal to zero.
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T (F)Let v & w be real numbers, then sinv + sinw = sin(v + w)
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Correct answers will not get credit without supporting work. Note that
“undefined” and “no solution” are possible answers.

2. [4] (Practice Exam #1) Solve for .
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3. [4] Draw the graph of a function A that satisfies the following:

{(a) h is a polynomial function ‘7-5"' N
(b) —1 and 3 are roots of A i - 4 / '
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4. (Practice Exam #3) Let f(z) =z 7%, and g(z) = vz + 2, a Wiy Yo Ave o \:\6 o
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(c) [1] (§1.2) Find the range of g.

[0,0)

(d) [1] (81. 4) Find the rule of (fog

@@Lﬂ Q%Lm Q (3) = () - 9

(e) [2] (§1.4) Find the domain of (f o g){(x).
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5. (Practice Exam #4 & 5) Let the following be the complete graph of f.
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(a) [5] The function f is a piecewise defined function consisting of a straight line and
a portion of a parabola. Write down the rule for f.
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(b) [3] (§1.2) Estimate the following if possible:
f(=3) F(=3) + F(3)
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(¢) 2] (§1.2) Find the & value(s) so that f(z) = —1?
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